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Answers

1. C

2. A

3. B

4. C

5. B

6. D

7. A

8. D

9. C

10. B

Determine which choice shows the expression used to solve the problem.

1) Adam was making ice using ice trays. Each tray held seven ice cubes. If he had five trays how
many cubes could he make?

A. 7 + 5 B. 7 - 5 C. 7 × 5 D. 7 ÷ 5

2) For a potluck lunch Bianca brought nine bottles of soda. If someone else had already brought four
sodas, how many were there total?

A. 9 + 4 B. 9 - 4 C. 9 × 4 D. 9 ÷ 4

3) An architect built a house with fifteen bedrooms total. If the second floor had eight bedrooms.
How many bedrooms does the first floor have?

A. 15 + 8 B. 15 - 8 C. 15 × 8 D. 15 ÷ 8

4) A chef can cook seven meals in a minute. How many meals could he cook in five minutes?

A. 7 + 5 B. 7 - 5 C. 7 × 5 D. 7 ÷ 5

5) At the state fair Edward bought eleven tickets. If he spent seven tickets on the ferris wheel. How
many tickets did he have left?

A. 11 + 7 B. 11 - 7 C. 11 × 7 D. 11 ÷ 7

6) Luke's freezer had fourteen ice cubes in it. If he had to get ice for seven cups, how many pieces
should he put in each cup to make them have the same amount?

A. 14 + 7 B. 14 - 7 C. 14 × 7 D. 14 ÷ 7

7) Robin was sending out birthday invitations to her friends. She sent out six on Monday and seven
on Tuesday. How many did she send total?

A. 6 + 7 B. 7 - 6 C. 6 × 7 D. 7 ÷ 6

8) Kaleb has ten action figures he wants to display. If each shelf in his room can hold two figures,
how many shelves does he need?

A. 10 + 2 B. 10 - 2 C. 10 × 2 D. 10 ÷ 2

9) Lana's dad took her and some friends out to eat for her birthday. If each meal costs two dollars and
her dad paid for eight meals, how much did he spend?

A. 8 + 2 B. 8 - 2 C. 8 × 2 D. 8 ÷ 2

10) Tiffany had eleven quarters. If she spent three of them buying a soda, how many coins did she
have left?

A. 11 + 3 B. 11 - 3 C. 11 × 3 D. 11 ÷ 3
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